JU-A : 2021-22(Set-Q)

AR thd ﬁ%ﬁfﬁ"ﬁﬁ-

« JU-A(Physics & Math Unit) Unit ¥SSPIH (16 oP9-80 B, (TG WF51=80 4T3 (TG STUH=55
IRIBEL

« ofSf8 MCQ 9T TAT AFB Fra S5 F Ve AT 1912, HfSie McQ 97 5= Tatad
R e Fa00 Q@ 933 (&1 29 [T ATEH (FH R e FaE A0

o SNMTE=23, AMATRM=23, PIAF=12, =9, 2TqG=9, IFGNaI ([T [TT7F) = b A9
PRIt TRt [RIT0E9-2 Uud 400 3|

« A0 O OBIF G0 0.2 VT $O 41 2|
. caawi%. MCQ AT (51 FI6F IF I A e3¢ FE  Submit A HF ST (OTNE

BB INEG Gl 2(J JJ2 ST S (OrNT A1 (FIF (MATS AEE|

FIASH AL =G Pl IS AT

Part-A : Short Syllabus

l. 96 100 MeV CHIBTHT F=91F F9 20O TA? (1 point)

[P-2.8, JU-A, : 2021-22]

6.3 x 10~ #
100 x 1075 % 1.610~%°

100 x 10~% x 1.61019
6.3 x 10— #

® 100 x 108 x 1.610°1°
6.3 x 10~

|

J

]

. None

Explanation:

S[@why| @ior= *if&, E = ho
E 100x10%x 1.6 x 10‘19HZ

:HJ:H 6.3 x 107

2. SfG] THIIT I (PN FNA ATTHAS WA AT B IIFSF TH? (1 point)
[P-2.8, JU-Aq : 2021-22]
® 6w
O e

Explanation:



S{@®]why
() TR 9 — |afeRer
(i) o pwem e o
(iii) vdeT Fefgaa 9= Intermediate Vector Bosan |
(iv) ¥ fofgae 9= T
3. wrfofaan srearets i$ R I sar s (1 point)
[P-2.10, JU-Aq : 2021-22]
- BAGeIE
® FoTEE
) (PEBE WY
Explanation:

[SIEIWIY (i) Sé-+RAIR Biate: ERbEEE < «eyd s ZeT
(i) Gfero: smfaeme it Rede Ree |

4. 1000kg STAT AT BITFa GATISN 200kgms ! T 97 Sfo*IfF F92 (1 point)
[P-1.5, JU-Aq : 2021-22]
103
® 20]
) 30]
407
Explanation:

y
200 % 200
SBIwh] E; om 2 x 1000

5. p-n GISFTTNA STSTIATSY FT FOT2PTN BT S q FIET- (1 point)

[P-2.10, JU-Aq : 2021-22]

" (T OIGe

B GRICERIINE

® F4w =T T

- G SN



Explanation:

| S[@)why| T4 =TT T ==
o YA I[TA: T2 TIZ T |
o Feidle T Gt = I A7 |

6. (FHATH BTAI GHIZAT (FIA6 2 (1 point)

[P-1.2, JU-Aq : 2021-22]

® T

Oaf

O g

(I SR

Explanation:

|SI®)Why| ©F @it &g T (Fee |

W,W=F).§=Fscose
HodlR, IS (T |

7. 593 &FITHT Tl (B ? (1 point)
[P-1.8, .]U-AQ : 2021-22]

. MT-E
_' MLT-E
'- _ MIT-E
9 MT-3

Explanation:

[SI@]why] =i 71, F = kx .-.k=-§-
Perare, (K] =T g = vy

8. (FICAT ATAIIRNA M2 AS [T *MAFT 1 (6 T o1 W4T AT 1 (1 point)
S rera fTe o[@R 50, (72 Afaarkia sfqafRens -




[P-2.2, JU-A) : 2021-22]
1839
® | Fros

12 82N
SN CIEL L

Explanation:

S[@Iwhy] ¢'w s, 1= GV
9, G A7 AfiRet | g s s |

. ___lA._ 1 -1
S=1y= 1AV =10

> 10N 9fB T Y-STCHA AT 60° (BT WO | IAMBA X- OFF Iqqq ey (| pond
GATTFO ?

[P-1.4, JU-Aq : 2021-22]

®5/73
S os
) 25¢

Explanation:

SI@IWhy] X w 3317 Botredt, Y
Fx = FcosO
=10 x cos30°
60°

=10X§=5\[§ 30°

O T

N>
Qﬂﬁ

X

10. (FO FASTFHTNT IT NH 2 (1 point)

[P-1.5, JU-Aq : 2021-22]

IRy 39

- e R e
® 5= 3

"~ (@MGE Y

Explanation:



S[@]why wwﬂfﬁﬁww ﬁﬁﬂmwwi

i T AR BEGRRE
! } !
qfq 9q | <o 8 v&e Holgd I IRk
1. SISO Cadfa77 54.3584 =7 2 (1 point)
[P-2.1, JU-AQ : 2021-22]

) SfRG Oqtd Af{T® =1
@ FFHIGH ©0-GIRIN*IA A8 I
" 4G OINrEard * |y (T
N canitEL L

Explanation:

|S[®]wﬂ tawﬁﬂi %2 Biret (@ Sty @A o o, owe
@ JIIT T ATRZIT AP, ©ITF @ AW (@l I |

i wfareeEg - 54.3584 K
i, o= - 273.16 K
iii. oW - 2343156 K

m—

i P e

2. a6 Sae7 (A s1fod faS1 g 1m | SR 0° @33 1 RATe 1203 (1 poind)
FN I & Ha (A sifoa AT (FIR0 2

[P-1.8, JU-Aq : 2021-22]
® sin4nt

) cos 4t
() sin 5t

\ A9B

Explanation:

9 (e sifeq TRiEad:
X =A sin(wt +0) 2nN _ 2t x 120 _
W= —— =471
= sin(4nt + 0°) t 60
*. X = sindnt A=1
d=0°

13. g5fP SIfGSIEITS ©A%7 25MHz FNIFAR *[RTENA 2- S5 9194 (1 point)

S1fere T | (@I RS Ao 3o GFa F = 5iVm 1 XA &
e Baa RS9 ?



[P-2.4, JU-A : 2021-22]
& 5
3 % 10°
3 % 108
5
() 95 % 108
T
3 % 108

- (PG Y

T

T

Explanation:

S@Fm B-E .p-—S 1 |E=5Vn’

3% 10° C=3x10"ms™

4. o[ STANTSHT 8 BITHA 1m> RIFTNT 8 1m?® HATFHCGH 5 TG (F= (1 point)
STITCHE A LT (1 2

[P-1.10, JU-A) : 2021-22]
G

L AUCHERI D

) (PIHBE

Explanation:

S[@Why] &1t Srerat @ Bitet G SHeH G SO S
R e |

Nis  6.02 x 10%
LEE WA =A== =) i
= V 224x 1072 .09 L1 m

15. 137,9 (& BCD A2 AZNAITS [NTH* FATO TATHIN FO 96 ATIGN 2 (1 point)
[P-2.10, JU-Ay : 2021-22]
® >33
8812

12812
(Al

Explanation:



BCD @ #jfs#! *¢=T 'Binary Coded Decimal' (Sfitae
2T 2folt THE (o @F b {®) Awweny v1F-f[A6 31T a=r
AfSZ TA9 19 &1¢ @OE BCD (@I 97| BCD FlG (@IF
YT e 97 | uft AR g TR afslt wwe zftre
ITRHIC T ARS 1137, (@ T2 FAET Faca 8 6 271«
BCD (@ F#iieq 3901 12 96 =4 1 (137),0 = (10001001),

6. {6 TBa WIS YA BTSN 2001, STHWAT 27°C, 8 HIN 2 atm, (! Poind)
fo U3t TS CFTIB (ST A FOIS ST NGl (HIT ANSAT TIIRNF FLA
TSI T 2

[P-2.1, JU-Aq : 2021-22]

O pv’ =&4P
or .

' None

Explanation:

S[@]WhY] BT zéte =S Treny FoerTn afiFt | qrem,
. BIH-STe T PV = 9
i, SIE-weT T TV = ga3

L=
1. OGPl T™2{$: TP v =79

17. STEAT (F STCHA SIfootad MY (A 2 (1 point)
[P-1.10, JU-Aq : 2021-22]
- b
ST
® None

Explanation:

S[®]Why| &g 1730 Sitet e siiew™ stfoergs 0t @ )
&Y ol G sifeergs e | agiel, UieR sifvergn S
A I DTN, RS, &, QIFSIN, SIFGIE ST |




18. PG TZYTEIAT 30 T INCH 2.4x108 m/s (ITST STRSAT TZEATICy (1 point)

BUG QTN AR (T | AT SIS Wit ¢o IQT A
Q sifete Af%3tce fRetg 9t o I99-

[P-2.8, JU-Aq : 2021-22]

® o wENTE
) ¢o G FU RS

" @0 IRF2 T

. None

Explanation:

|

2
Wh}’ t=- b N ::>t0=r\/1—(%) =50 x 0.6
1-(3)
C

= t=30year .. TRMFIHINT IT =30 + 30 = 60 T2 |

19. 00 C OIANTHIT AFIB NI SNNGT OItad G149 100 Q CH 30°C OIANTgrg (! point)
OIad (A FO T2

[ITSINTGIA (ATCET GRSl 29T 3x10-5 0
[P-2.1, JU-A) : 2021-22]

® 100090
C100.90 ©
(1 200.09 O

' None

Explanation:

S[®]Why] t°C e9@r @1, R, =Ry [1 + at]
~ Rypp=100[1+3x 107 x30]=100+9 x 1072
Rs0 = 100.09Q

ST

i, o=x°C" e, t T EEEHET |

ii. o=x°K" 2, t [ @ |

20. 9B 4T9F O ©F 6g | AfOTH 3m T 90 oI 9F AT (T (1 point)
S T TS 4314 FAMAT 057 | IF (SIS SAIT F0 ?

[P-1.4, JU-Aq = 2021-22]

® 1.356 kgm’zs'l



' 1.4x10* kgm 257!
06 kem2s™!
-

g kgm"

Explanation:

[SI®IWhY] &ifes Sacast ,L=mmr2=6x10-3x2“l"4x32

.. L=1.356 kgm™2s™"!

2], WFHPIE B (OTA TAT__ FICNAT AERNE A1 TH (1 point)
[P-2.9, JU-Aq : 2021-22]
O s g
SRS
® teTRS 99

Explanation:

S®)why| sRERe aféim sze:
* SEHFICA TAE G ST |
* TAIIA %4 CSTEE I |

2. (PN {6 (ST° Groted SN ? (1 point)
[P-1.1, JU-Aq : 2021-22]

SN 8 999

® T3 33
U Ew 8 @91
) od 8 Ol

Explanation:

SBIwnhy| ©te TSR B - 4@:1
LST0LF il S (T iy, W

[ —




23 R BT 12° ¢ OIANTEY a6 RS “fau= s Sirew 0.65L.1 (! point)
BITHT ATHTO 1 (A T (O 3] ST OF TITHE SO 0.75L
TQ?

[C-2.1, JU-A : 2021-22]
() 32.885K
(1328846 K

@® 32885K
" 1318.85K

Explanation:

SIE[Why| L= Y2 T, = 12°C =273 + 12 = 285K
T T V;=0.65L
=>Tz=yi,iT—=323.35K T, =1
: V,=0.75L
24 0.005M H>S0, A4CTd pH 44 VN $9? (1 point)

[C-2.3, JU-Aq : 2021-22]
(1]
SRb
@2
13

Explanation:

S[@]WhY| ¢ [H]=0.005x2=0.01 * pH=-log(0.01)=2

25. (TN *TTS JHB AW SIS S ST NTOT ST HTA? (1 point)
[C-2.1, JU-Aq : 2021-22]
® Tt Srerrar & N B
" GF6 OITNIal 8 G5 BITy
R Srerrar 8 fRE B
) R Orerarar 8 O GBIt

Explanation:

S[D]why| T% Stomiat @ {7 vitst IR AT AT SHAS @
Y ¢ IBI A7 S AT T 5D

26. FFHATXH (S FSBIN=HT WeIq? (1 point)



[C-1.5, JU-Aq : 2021-22]

 fSBIm-A
" fSBIRM-D
"~ fOBI=-E
® SHIN=-K

Explanation:

w11}'| fafeg it =i T @ wewfe @m:

| FEAEAT | eREMe
A Ao
D Wﬁﬁmﬁ {0
E o- . 3 (A¥Te B
i I
K FWFITT?{FHT{ I&FqY
27. Nt (@ e snfAentar fafasr e (1 point)
[C-2.2, JU—AQ : 2021-22])
" CH3CHO
® C.H.CHO
Explanation:

FiAeitE [feat v M TmT a-hydrogen M
A1 1 @M CgH;CHO @it (&It (o) hydrogen % |

28 CO, TS Y (FN JLA? (1 point)
[C-2.1, JU-Aq : 2021-22]
® LTS
) SHITGINGH
L (IS
G

Explanation:



_Fﬂ""ﬁﬂ‘ﬂﬁ

‘EIWT * (km)

=

-wmﬂwamﬁﬂm'

lEt?lTﬁFm 0-15 Nz, Oz, CO, o faI BeIve
' Ar, H,O
° T TG

e by

29. IR STPTNTATH 200mL =& BN 15.5g CaCl, Balgo Wty | faerg (1 point)

[C-1.2, JU-Aq : 2021-22]

() 69.5 g/L.
755 g/L
® 775¢gL
) 62.5g/L

Explanation:

. (AN 9(F) ik O]
S[@]why| a=ret, S %mﬁ-.—-—————m e —

15.5

=gl S=—=775g/L
0.2
30. (FMIE AT IFT TRy AN (1 point)
[C-2.1,JU-Ag : 2021-22]
. CO
) CO,
® 5o,
" N,O

Explanation:



ISI@Iwhy| Tt sqsTF=F IBTe pH O T 5.6 93 7 (13
Q@ SYTFARE G B 0 | FYET® @ pH T (5.6-3.5) W4

AT | 9 o fode ufe AtF (H,S05, H,SO,,HNO;) T &g

Y EF SO, 8 NO, O SAY T |
ToIRT BT T CO, GA9e IFT H,CO; et AT | aff ve
afTe eIy it I Afite Safae 27 |
31 (I CIITST 912 THA V122 (1 point)
[C-2.2,JU-Aq : 2021-22]

® C,H,

) HCHO

— GH,

_HCN

Explanation:

S 3] Why H H
S@, G o o-IF9 — 56
Hﬁ& o S H -
G -FY = 0
H H :
32. ATANNIGS ©d Ie00 4l I e (1 point)
[C-1.2, JU-Aq : 2021-22]
BB O ICIE ) (& B RCE|
U fReFIe o
~ (N6 @ (SR d o
® 5@

Explanation:

S[®]why] s o9 Iere Fofsare va, FefFumg og gz
(HGH 8 fREGT SaT T |

33. fU69 (N IS0 GINGI FRITg T T2 (1 point)
[C-1.5,JU-A : 2021-22]
NG L b



® A

Explanation:

[S[®]why] ©Iel fgE R RS X TETIRS,
TR0, @Iy, St ufSte |

4. (W A FB Oae1 CAo F[RONLR FTIIF FATHA? (1 point)
[C-1.2, JU-Agy : 2021-22]
— wefF orew
" STSTHOA TN
® o1 (e

Explanation:

S[@why] 7 @vlr Remead @ rE, SiIfR  @&FEm,
ST, I, GRS (EP, ARSI, @GR safs 2orif
TR T T | AL =To oFe “aida Ryt ege o |

35. TTTE CFITST -COOH JAS NG FALT (FIN6 IIITO TN? (1 point)
[C-2.2, JU-A : 2021-22]

" NaOH B3
" FeCly TR

® NaHCO; TI9

Explanation:

S[®]WhY| —-COOH & *Mieaeed & 5% NaHCO; H3
G490 Y |
CH;COOH + NaHCO; — CH;COONa + CO,T + H,0

36. CcL- WIrNta B RS Abve a9 O (@6 5939 T2 (1 point)
[C-1.2, JU-Ag : 2021-22]
" BaNO;
" Al(OH)4



) CaCO;

Explanation:
—e -
S[@]wh) Cl*(aq) + AgNO; — m%%cqltg% +NO;
AgCl +NH4;0H — [A Cl +H,0
g Ha %Iigml?a)z] 2
EE I ERCIEIEN
37. 500 mL COfSTTNIETR BICT T 1N H,S0, ATTH? (1 point)
[C-2.3, JU-Aq : 2021-22]
(245¢g
®49¢
980¢g
1 498¢g
Explanation:

W_ovs = W=05x01x98 =49¢g

M
38. (PINIG (VBT TAWIadS AfTod JATFo? (1 point)
[C-1.3, JU-Aq : 2021-22]
") H3PO;
) HyPO,
") H3POy
® HPO,
Explanation:
[ST@®IWhy] T @
TS RN - o o
1 | H,pO, | 3ceirwsar ubie
+3 H;PO; A GFTe
+5 H,PO, TP APTe
5 HPO, GRS e




39. QY TQLe BN ©ofus [Ty R (SRSt 1959 T (1 point)
|C-2.4, JU-AQ : 2021-22]

@ KCl, KNO;, NH,CI
) KCI, Na,S0,, K580,
' KCl, NayCO3, NH,CI

" KCIl, NaNO;, NH,Cl

Explanation:

SIOWw] == ergre (KCl, KNO;, NaCl, Na;SOuNH,C)
ool R A |

40. fNTET (FHIC WCATETF CTo1? (1 point)

[C-1.3, JU-Aq : 2021-22]

®CccCL,
) CHCL,
() CH;O0H
O HF

Explanation:

SIB]WhY| CCl, 93 TIZTAR TS *77 | ©IR @b T ol

41. A4 + B & 3D fafEmfere 8 ag 5= Sllsa TRy F91 (1 point)

[C-14, JU-Aq : 2021-22]

' Kp=Kc (RT)’
) Ke=Kp (RT)
® Kp =Kc (RT)
" Ke=Kp (RT)?

Explanation:

S[@WhY] K, = Kc (RT)™ = K, =K (RT)

42. TIEF ST CJTT T - (1 point)

1. H,0
2. BCh
3.NCl;

Ao (=ie 52



[C-1.3,JU-Aq : 2021-22]

182
O 583
® 33
1,283

Explanation:

SIEWH] 7 (@fm Glem o8 TR ¢ AT + SO
G CAeT x Y AR — (& BTe) |
* H,0=[6+(2 x 1) 0] = 8 Wex7)<f
* BCl = [3+(3 x 1) = 0] = 6 Szieye
* NCly =[5+ (3 % 1) - 0] = 8 w2wyf

43. (FIRIB SOTACABS T TN? (1 point)
[C-2.2, JU-Ag : 2021-22]
G
® CERAGIFCA
@ BIGIE|
VORI

Explanation:



u
g e T R A o gt A L R
: I . . . : e x . Ft - :
: . : LLEY Af g T A L 4
u ' [} o 4 ..I .I'I' i E L3 oy : " I ;
S0 | b R B s S romatici
My i s v = w o g .l'|" +. .y r.l g | Hel T Tt ok N -+ v % . ! . = L
ol 2 - o i 1o . - T ¥ ; o Sa it . d ;i
b e o A e L PSR LA Y] PR g, ]
e TR B L R R T g AT g g R e e 4 |

el X .14 4'f+2=.14 Aromatic |

— i ap = S — i e —

Rrears lone pair electron 6 _ Aromatic
CATSTHTICH I N

| e I

P

N
* 4n+2=06 :
ffTS | Jone pair electron 6 : Aromalic |

TSI S
A

——
(OQTRIRG- I BvL (; Non-
fFoaw Ln=-3 aromatic

. %ﬁ? I SIS IR THNO! Z1 ANR(F T2 SLA (AN OITRATS (1 point)
JCA?

[C-1.4, JU-Ag : 2021-22]
L YNTF AORE

" EPTIRTG AORS

® soR Y

Explanation:



:- [Why] 49 e mmwﬂﬁwww
| qIgS SHA0E | R ﬂf‘iﬁﬁ ST
| YE TG | R e mm sw
=eferT I SOl TR0 | H-HORT REIE IS I
EESE I AfeFa dols RETE e 90 |
AT TP EbIRd Y el A ¢F
45. 2x2.5x+2=0 TN S AT IFB YT 2 TCT AT YD T ? (1 point)
[M-2.4, JU-AQ : 2021-22]
® 2
51
S
o1
Explanation:

46, 1 dp (1 point)

[M-1.10, JU-A : 2021-22]

Explanation:

X SCFF R 30° @REE m=tanﬁ'
= m =tan 30 = l

\3




47 1 do . (1 point)
fu V2 —z2

[M-1.10, JU-Aq : 2021-22]
2

@

OF|

O (PHBENY

Explanation:

l_ﬁ_ — : dx _r_e —]
fﬂ_\ﬁx_x} fwl_(x_l)zdx—[sm (x=1)];

=O n'—E
-5)-3

- - - o - -

48. y=2x+b (AU y2=16x AAFILS =P F TCA b 99 VN FO? (1 point)

[M-2.6, JU-Ag : 2021-22]

Explanation:

y =2x+b @ y* = 16x *I7130a7 =i 7=
p=d=

-

49. y=x3_3x2-45x+13 THLAYE (-3,94) fT7r0 wIfge® =T aq o= fATea (1 point)
(FA6?

[M-1.9, JU-Ag : 2021-22]

Explanation:



SIEIWhY] y =x*-3x*—45x +13 . gxz=3x2—-6x—45

(_3: 94) Ii 109, ?_li:- 3 X (—3)2—6 X (—3)-—45
=27+18-45=0

50. 3x2+4y?=12 BAIL A GSTI AT Ol (FHI6? (1 point)

[M-2.6, JU-A : 2021-22]
U 1/4
® 2
) 3/4
3R

Explanation:

ol y=x+6 I3 y=x’ FIAI W7 CFLIT CF w1 3O I IFF ? (1 point)
[M-1.10, JU-A : 2021-22]
) 119/6
121/6
® 125/6
4172

Explanation:



SI@IWhY| y =x+6.... (i); y = x> ... (ii)
(i) 8 (i) 0%, X’ =x+6 yi=X+6
=X —Xx—6=0 Y
= Xx*—3x+2x—-6=0
=>Xxx-3)+2(x-3)=0
=>x-3)x+2)=0
SHX=3,-2

52. gec? ( (Eﬂt - l) 3) 1 cosec ((tan - 1)2) A9 N $9? (I point)

[M-2.7, JU-Aq : 2021-22]

Explanation:

\S[Q]Whﬂ sec® (cot™3) + cosec” (tan™'2)
| ]
= sec” (tan“g) + cosec’ (cot""z')

— 1 + tan? (tan"%) +1+ (:{:;t2 (cot'%)

1\ 1’ 1 ] 85 13
=1+(=] +1+(= 4+t ]+ =22 LX)
(3) (2) =1ttty =36 223
53. |1 1 1 (1 point)
1 14z 1 =7
1 1 14y
[M-1.1, JU-A : 2021-22]
@, x+y
O xy
® xy



Explanation:

]

]

L 1%x

1

]

1 |
1
1+y |

0 0 1
= x x 1
0 -y 1+y
= x
=1, . = xy

|

C =C—¢C
C) =Cy—Cy_

54. 2x2.3x+1=0 TN HACTA YT oA CAMHLAF SN T Hod BTHe cqror (1 point)

PH PO AQ?

@
O1
0
()3

Explanation:

[M-2.4, JU-Ag : 2021-22]

IO 2473 +1 -0 4w v 0, p o, =3

81 arpap-

55.
A — ["1 z] =0, Al 92

(—4 5 ]
Equatione =
| 7 -9
® ) .
Fqguatione = 2 ;
-7 4 |
2
T2 %
3 x?
4 —
Equatione = [ 7]
-5 9

Explanation:

A=

56. tan((cns_l)m) = sin((tan_l)2)m1-ﬂamﬁ?

> .o
91-**“ =

1
36 —35

(1 point)

[M-1.1, JU-Aq : 2021-22]

ke

-5
4

—

_ 9 —S_
—7 4_
(1 point)



[M-2.7, JU-Aq : 2021-22]

® V5/3
(372
C1N3
) 3K5

Explanation:

SI®Iwhy| tan (cos™ x) = sin (tan™'2)

D - 1 —x 2
= tan (tan™ E) = sin (sin >)= =
X \1+2 X \f1+4
2
IoX -2 ososw=ad >0¢=5 o x=22
X d
57. 3x-6y+2=0 (YT ONF g (FYF O $9? (1 point)
[M-1.3, JU-Aq : 2021-22]

02

02

12

@12
Explanation:

d
SIQIWhY] =T R P = ot 32

(1 point)

58 In 2 dax
/ — 4N $9?
0 1 + e <

[M-1.10, JU-Aq : 2021-22]

E'

ol = oo

E:T
e
| —

S N N S

E'

,-""_""x
ko | o

Explanation:



n2 X
dx g, e*+ 1=z

= e'dx=dz
n2 3 [
e 1 X 0 In2
= dx =f —dz
f oe”+ 1 2 Z | Z 2 3 ‘
3 3
=[Inz] = In3 — In*=In=
[inz], : _
9. 4x-3y+2=0 L<]¢ 8x-6y-9=0 mﬁﬂﬁﬁ nayg $9? (I point)
[M-1.3, JU-AQ : 2021-22]
02
) 10/13
® 13/10
L 12/13
Explanation:
SI@Jwhy] 4x—3y +2=0....... (i) 9 8x—6y—9=0
:>4x—3y—§=0 ..... Qi) - () 8 (i) @9 TRS Ty
9
2+=
2 |_13
4*+3*| 10
60. x2+x+4=0 TN SACTI YTZH a 8 b XCA a-b=F9? (1 point)
[M-2.4, JU—AQ : 2021-22]
() +16
®+,/-15
44/ =20
L +4/20

Explanation:

S@why| x> +x+4=0 aaﬂfra,[i’a:m

2.

6l. xy=1 T dy/dx=FO? (1 point)



[M-1.9, JU-A : 2021-22]
) yfx
) ylx
O wy
® xy

Explanation:

SIOWhY] xy=1 . ¥=_Y

" dx X

62. 3y2=5x AAILEA UAFTHA ZIASH (FA(B? (1 point)

[M-2.6, JU-Aq : 2021-22]

L (5/3,0)
) (5/6,0)
@® (5/12,0)
~(0,0)

Explanation:

[S[@why] 3y* = 5X =>Y2“—x
oyl =g 2 : .
LY =4 SX "%W"(E’O)

63. (1,2) fT=75M T 92 3x-4y+8=0 (FUA TNFAT (FUF ANHAT (FR[B? (1 point)
[M-1.3, JU-AQ : 2021-22]

@ 3x-dy+5=0
) 3x-4y+7=0
) 3x-dy-5=0
" 3x-4y-7=0

Explanation:

S@®Why] 3x -4y +8 =0 WWW

3x—4y +K=031(1,2) R=pnsh
1 3-8+K=0..K=5.3x-4y+5=0

L




64. 'Settlement' *TCAHT ANTSIHS *137 (FINB? (1 point)

[JU-Aq : 2021-22]

L IR
TG
@ e
Rt

Explanation:

S{@®@]WhY| 'Settlement'-=ifg, ST, Trarestr |

65. "FAATITA (HFIN 4ATNQ STN1? (1 point)
[JU-Aq : 2021-22]
® TxeEy
- ST
ey

Explanation:

SO Why| Foria-ore SR | I T F9 9T |

66. fNTHT (FMIG STULF 157 T2 (1 point)
[JU-Aq : 2021-22)
G
® 3
- NP
67. 'Why did they arrest?'- Change it info passive voice. (1 point)
[JU-Ag : 2021-22]

) By whom were they arrested?
() Whom was arrested by them?

@ By whom they were arrested?

) Who did arrested by them?

68. Find the pair which has same relationship of 'Ecstasy : Pleasure'. (1 point)
[JU-Aq : 2021-22]

(_ Affection:Condemnation

" Approval:Privacy



@ Rage: Anger

) Hatred: Affection

Explanation:

Ectasy — ©5; ectasy =0 pleasure O ANLE =% |
Option C (® Rage ((&FI¥) Anger 93 ST 47 |

69. Choose the correct preposition in the following sentence- (1 point)

There is a mistake page 20.

]JU-AQ : 2021-22]
@ .

. 1n
' on
. of

Explanation:

Wh}’| Page Number (JIR0TeT Proposition At T | ©2AET @19
PO A @0 A @RI 'on' W @A Fed SToraE

(@RI Preposition 'in' W1 @ItA f$g7 AL TR Q@RI
Prepostion 'Of 2% |

70. SO 37 AN I ZTAAT- (1 point)

[JU-Aq : 2021-22]

Explanation:

SI®IWhY] @ Srafir siwfore BT @I T @IS @
c@ﬁ‘rcwrwarmﬁemwwwqﬁﬁ%mﬂﬁwmq

P A ONT ATIRT T 27 | TFOIPB (s Twzae: ao)-
SMS, &% SMS, &F9- MMS, &1 B7ifbe 11 fofes Seifer |

71

_ 657, CAFGTSBITA (BT FAE G FUATH Fo eq @Gror (1 point)
TG Q2



[JU-Aq : 2021-22]
(8
® 6
(32
(64

Explanation:

wRESIE 10 e A2t — 657 o 7917 &7 16 6
TS |

72. 136 PRTHE AR TGN X(6R- (1 point)

i. ©II0! I WP FAIST Bl
ii. OIord fIT6d IS 8 SsT& Wiefaw 6
iii. IIMGO2Y JF ATFN G

fAtoa =e 6 2

[JU-Aq : 2021-22]
®;aii

i @i

i g

U (@R AfPS T

Explanation:

SI@Iwhy| i. TIitiE 3T FHIE A 8 FATI—> TR EeT )
ii. ©71019 o Rt 8 Segw afefaw f[R6— SmfseamieT |

73. 56 @fOrera (ofdate ITIZ4 TH- (1 point)

[JU-Aq : 2021-22]

K o
K T

" S-K 8D A
® )k 8D fF-FA

Explanation:

S[®IWhY] D fFo-wor a1 JK FFo-get 9929 9@ et @eeE

tofs =4t 9 | 59 D -7+ I9%17 T 9ol See 4 {6 Fres
@S5I tofd a1 7T |

74. fT59 (G Web Server JF FMOT TH? (1 point)



[JU-Ag : 2021-22]

BT LT

" RBIATAG ST ST
PTG LAY T

® JZFIIAE Apps SR AR

Explanation:

S[®]why] stezs T ewEess NWWWWW
wwmvﬁmmmmmﬁﬁm@mﬁﬁw

5. AB + (A4 + B) 94 TAAAISAT XC1- (1 point)

[JU-Aq : 2021-22]

® AB

Explanation:

[SI@Wy] AB+ (A + B)

AB +AB =AB . AB = AB

76. 4B BT == T fATts WIEe 7fe (T (a N FAFGAT (1 point)
fNT6a (N HTML code f& TTIT© TH?

[JU-Ag : 2021-22]

(_ tabmerge
" tabspan
@® Colspan

' Rowspan

Explanation:

S[@Why] «32 siifia @i 1% F9= S Rowspan €32, T G
T F419 &7 Colspan |




7. ZRECI YIAN FLE SOOI (YTF ©YT Fid FE NI W8 MTF =1 TH- (1 point)
[JU-Aq : 2021-22]
® 5
B E (R
BRI E

Explanation:

SIBIWhY] @i s ewgey| =7 ZIeAR SrT 3ERGRT
IS i AfSBi TRt Tt IR RefAie 30

Part A : Extra Syllabus

78. p, pSINIa¥ B2 O 04 w1feh P T IAZCHA NLIFO! (T FO? (1 point)
[M-2.8, .]U-AQ : 2021-22]
) 30°
o e
) gpe
@® 120°

Explanation:

S[®)Whypreats, P=Q=R T a. = 120° T |

79. STINTCNE B2 o 074 sifaa (351 IR0 STHAFT 0 BT| JTHA NYTITO! (1 point)
(T FS?

[M-1.2, JU-Ag : 2021-22]
e

) 45°

® 60°

) 90°

Explanation:

[SI@]why|«f%, 3% P, P =& 37 R R0 W3 UT7A T4 @l o

NTe, R2=3P% .. 3P?=P?+ P*+ 2P? coso.

qt, 2P%cosa. = P? 41, coso= % S.o=60°




Equatione = e
1 2
® —5 2
FEquatione = ]
| 10 4
|_._.: . _ 2
FEguatione ! ° ]
10 —5

C —5 2
Fquatione = [ 6 ]

Explanation:

why| AB

5

[2 _01] X0 AB 93 W g T2

[M-1.1, JU-Aq : 2021-22]

10

-

(1 point)



